HOLIDAY HOMEWORK CLASS -12
f Accountancy-

1. Comprehensive Project: The student will be allowed to select any business of their
choice, frame it in a story line of all the transactions they must have performed
during the year in a fictitious business.

2. Worksheet of Ch 1to 4 in practice H.W copy.
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WORK SHEET -1 ( FUNDAMENTALS OF PARTNERSHIP)

Q-1. A partnership deed provides for the payment of interest on capital but there was a loss
instead of profits during the year 2011- 2012. At what rate will the interest on capital be allowed?
Q-2. Aand B were partners in the ratio of 1:1. Their capitals at the end of the financlal year 2011-
2012 were Rs.200000 and Rs.100000. During the year A’s drawing were Rs.25000 and the drawing
of B were Rs. 10000 which was duly debited to partner’s capital account. Profit before charging
interest on capital for the year was Rs.30000 which was also duly credited in their profit-sharing
ratio. B bought additional capital of Rs.20000 on October 1, 2008. Calculate interest on capital @
10% p.a. for the year 2011-2012, if firm closes its books on 31% March every year.
Q-3. A and B were partners with capitals of Rs.75000 and 45000 respectively. Interest on capital
was provided @ 6% p.a. B is to be allowed an annual salary of Rs.3750. During the year 2011-2012,
the profits prior to the calculation of interest on capital but after charging B's salary was Rs.18750.
A provision of 5% of the profit is to be made in respect of commission to their manager. You are
required to prepare Profit & Loss App. A/c and partner’s capital A/c for the year ending 31* March,
2012,
Q-4. A, Band C are partners with fixed capitals of Rs.6,00,000, Rs.4,80,000 and 4,00,000
respectively. The Balance of current accounts on 1% April, 2011 were A Rs.30,000 (Cr.); B Rs.12000
(Cr.); and C Rs.10000 (Dr.). A advanced Rs.80,000 on Octoberl, 2011. The partnership deed
provided for the following : ' B
Interest on Capital at 5% p.a.
Interest on drawings at 6% p.a. Each partner drew Rs.40000 on October 1, 2011.
Rs.80000 is to be transferred to Reserve Account.
Profit and Loss to be shared in the proportion of 3:2:1 upto Rs.1,20,000 and above Rs.1,20,000
equally. .
‘Net profit of the firm for the year ended 31% March, 2012 before above adjustments was Rs.
4,00,000.
From the above information, prepare Profit and Loss Appropriation Account, Capital and Current
Accounts of the partners.
Q-5. X and Y enters into partnership without any Partnership Deed. X proposed the following
clauses to Y at the end of the year.
(a) X to receive a Salary of Rs.5000 per month.
(b) Y to be allowed a commission of 10% per annum.
(c) Interest on X's Loan to the firm, to be fixed at 12 % p.a.
(d) Profit sharing ratio amongst Aand B should be 3 : 2.
Decide whether X's suggestions are applicable if there was no Partnership deed ? Also, prepare
Profit & Loss Appropriation Account as per the requirement of the Partnership Act, if X has given
Rs.20000 to the firm as loan on 1% March 2011 and trading profits of the firm for the year ending
31% December,2011 was Rs. 50000. ‘
Q- 6. X and Y were partners in a firm sharing profits in the ratio of 3:2. Their capitals were Rs. 50000
and Rs.30000 respectively.They agreed to allow interest on capital @ 10% p.a. The profit of the firm
before interest on capital amounts to Rs.6000. Show the allocation of interest on capital if (a)There
is no agreement except for interest on capital or partnership deed Is silent as regards treatment of
interest on capital as a charge or appropriation.
(b) There is a clear agreement that interest on capital will be allowed even if it involves the firm in

loss.



Q- 7. (a) A and B were partners in a firm. The partnership deed provided that interest on drawing
will be charged @ 6 % p.a. During the year ended 31 December,2011, A withdrew Rs. 12000 at the
beginning of each quarter and B withdrew Rs. 12000 at the end of each quarter. Calculate interest
on the partner’s drawings.

(b) A partner withdrew Rs. 24000 during the year and interest on drawings is charged @ 10 % .
Calculate Interest on partner’s drawings.

Q-8. X, Y and Z were partners with a capital of Rs.80000, 64000 and 48000 respectively on 1™
January 2008. After distributing the profits for the year ending 31* Dec., 2008, it was found that
there was no provision for interest on capital in the partnership deed. But interest on capital @ 10%
p.a. was wrongly provided without having agreement for it. Pass a single journal entry to rectify the
above error.

Q-9. A, B and C are partners sharing profits in the ratio 3:2:1. After the final accounts have been
prepared it was discovered that Interest on Drawings @ 6% p.a. had not been taken into
consideration. The drawings of the partners were A Rs.60000; B Rs. 30000 and C Rs. 10000. Give the
necessary adjusting entry.

Q-10. A, B and C started a firm on 1% April, 2011 with capitals of Rs.150000, Rs. 100000 and
Rs.200000 respectively. They agreed to share the profits and losses in the ratio of their capitals. The
profits for the year 2011-12 amounted to Rs. 100000. Following are the details of the partners
capitals given ’

Capital Introduced Capital Withdrawal
Date B c B c
1-08-2011 25000
1-10-2011 125000
1-12-2011 75000

Prepare Profit & Loss Appropriation Account for the year 2011-12.

Q-11. X, Y and Z are partners in a firm. Their capital accounts on 1% April, 2013, stood at Rs.
2,00,000, Rs. 1,60,000 and Rs.1,20,000 respectively.

Each partner withdrew Rs. 10,000 during the financial year 2013-14.

As per the provisions of their partnership deed :

(a) Y was entitled to a salary of Rs.2,000 per month.

(b) Interest on capital was to be allowed @ 10% per annum.

(c) Interest on drawing was to be charged @ 4% per annum.

(d) Profits and losses were to be shared in the ratio of their capitals.

The net profit of Rs. 1,50,000 for the year ended 31* March, 2014 was divided equally amongst the
partners without providing for the terms of the deed.

You are required to pass a Single Adjusting Journal Entry to rectify the error.

Q-12. A, B and C were in partnership. A and B sharing profits in the ratio of 2:1 and C receiving a
salary of Rs. 3,580 per month plus 5% of the profit after charging his salary and commission or 1/5"
of the profit of the firm whichever is more. Any excess of the later over the former received by C is
under the partnership deed , to be borne by A, The profit for the year ended 31% March, 2014
amounted to Rs. 2,57,040 after charging C’s salary.

Prepare the Profit & Loss Approp. A/c showing the division of the profit of the year.






